
11 ) যদি 3 𝑥 + 𝑖𝑦 = 𝑎 + 𝑖𝑏 হয়,তবে প্রমাণ কর যয, 4 (𝑎2 − 𝑏2) =
𝑥

𝑎
+
𝑦

𝑏

3 𝑥 + 𝑖𝑦 = 𝑎 + 𝑖𝑏

⇒ 3 𝑥 + 𝑖𝑦
3

= 𝑎 + 𝑖𝑏 3

⇒ 𝑥 + 𝑖𝑦 = 𝑎3 + 3𝑎 𝑖𝑏 2 + 3𝑖𝑏𝑎2 + 𝑖𝑏 3

⇒ 𝑥 + 𝑖𝑦 = 𝑎3 + 3𝑎𝑖2𝑏2 + 3𝑖𝑏𝑎2 + 𝑖3𝑏3

⇒ 𝑥 + 𝑖𝑦 = 𝑎3 − 3𝑎𝑏2 + 3𝑖𝑏𝑎2 − 𝑖𝑏3

⇒ 𝑥 + 𝑖𝑦 = 𝑎3 − 3𝑎𝑏2 − 𝑖𝑏3+ 3𝑖𝑏𝑎2

উভয় পক্ষ হবত োস্তে ওকাল্পদিকঅংশ সমীকৃত কবর পাই, 

𝑥 = 𝑎3 − 3𝑎𝑏2 𝑦 = 3𝑏𝑎2 − 𝑏3



=
𝑥

𝑎
+
𝑦

𝑏
R.H.S.

=
𝑎3 − 3𝑎𝑏2

𝑎
+
3𝑏𝑎2 − 𝑏3

𝑏
= 𝑎2 − 3𝑏2 + 3𝑎2 − 𝑏2

= 4𝑎2 − 4𝑏2

= 4(𝑎2 − 𝑏2) 𝑃𝑟𝑜𝑣𝑒𝑑



14) x = p + q, y = p + 𝜔𝑞, 𝑧 = 𝑝 + 𝑞𝜔2 হবে প্রমাণ কর যয,

L. H. S. = 𝑥3 + 𝑦3 + 𝑧3

= 𝑝3+3𝑝2𝑞 + 3𝑝𝑞2 + 𝑞3+ 𝑝3+ 3𝑝2. 𝑞𝜔 + 3𝑝. 𝑞2𝜔2 + 𝑞3𝜔3 + 𝑝3+3𝑝2𝑞𝜔2 + 3𝑝𝑞2𝜔4 + 𝑞3𝜔6

= 3 𝑝3 + 3𝑞3 + 3𝑝2𝑞 + 3𝑝𝑞2+ 3𝑝2. 𝑞𝜔 + 3𝑝𝑞2𝜔2 + 3𝑝2𝑞𝜔2+ +3𝑝𝑞2𝜔

= 3 𝑝3 + 3𝑞3

= 3 𝑝3 + 3𝑞3 + 3𝑝2𝑞 1 + 𝜔2 + 𝜔 + 3𝑝𝑞2 1 + 𝜔2 + 𝜔

𝑥3 + 𝑦3 + 𝑧3 = 3(𝑝3 + 𝑞3)

= 𝑝 + 𝑞 3+ 𝑝 + 𝜔𝑞 3 + 𝑝 + 𝑞𝜔2 3

= 𝑝3+3𝑝2𝑞 + 3𝑝𝑞2 + 𝑞3+ 𝑝3+ 3𝑝2. 𝑞𝜔 + 3𝑝. 𝑞2𝜔2 + 𝑞3 + 𝑝3+3𝑝2𝑞𝜔2 + 3𝑝𝑞2𝜔 + 𝑞3


